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Question Number : 1 Question Id : 6981774132 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement
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Options :

Habitual behavipur 1s inherited
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Habits are acquired dispositions
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Habitual actions are performed every time in the same way
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3. %
Habitual actions are performed with great ease
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Question Number : 2 Question Id : 6981774133 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
NCF 2005 has strictly prohibited board examinations at this level
NCF 2005, 3% whid,md,, Weehs T0cgnvse, o, At A ARePAE

Options :

Class X
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Class XII only
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Classes V., VIII and XI
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Question Number : 3 Question Id : 6981774134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The percentage of representation of parents and guardians in the school
management committee prescribed in the RTE Act, 2009
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Options :
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One fourth

®
Half
2. % CWF
Two third
50T TonTe
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Three fourth
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Question Number : 4 Question Id : 6981774135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Students 1n a primary school are found to have a very positive attitude towards

helping others. That school can be said to have accomplished the goal of

developing this domain of students

Options :

Cognitive
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Affective
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Question Number : 5 Question Id : 6981774136 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A person 1n his twenties has joined coaching centre for learning gymnasties

and dropped out as he could not perform. This can be attributed to the fact

that
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Options :

the individual has crossed the critical age period for learning gymnastics

23— I = = e
b.!me,aﬂ';_'u'n T e et el WL_E__.M\.- NE?LF#&* un.'lv.h--\.l'_{'_'u \ﬁlﬂ@m‘_‘bua o =) Bad lnd ) P

1.4

The individual did not reach the maturation level required for learning
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the individual understands the guidelines for learning gymnastics
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The individual have a positive attitude towards gymnastics
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Question Number : 6 Question Id : 6981774137 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Arrange the following first four stages of Erikson’s Psychosocial development

1n sequence 1n ascending order

Options:

Trust ws. Mistrust; Autonomy vs. Shame and Doubt; Industry vs.

Inferiority; Initiative va. Guilt;
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Industry vs. Inferiority; Initiative va. Gult; Trust vs. Mistrust;

Autonomy ve. Shame and Doubt;



Trust va. Mistrust; Autonomy va. Shame and Doubt; Initiative va, Gualt;

Industry vs. Inferiority

3.v
Industry ve. Inferiority; Initiative va. Guilt; Autonomy vs. Shame and
Doubt; Trust vs. Mistrust.
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Question Number : 7 Question Id : 6981774138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to self learning
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Options:

self learning helps in learning at one’s own pace
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self learning helps in strengthening the learning skills of the imndividual
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self learning helps In setting goals of one’s choice
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self learning can only take place in formal educational set up
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Question Number : 8 Question Id : 6981774139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT an attribute of good facilitator in classroom
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Options :

analytical thinking

_— D cB/T0E, F o=

knowledgeable

an‘:_":;:\iajs.;
2. % 7

use of little or no dialogue

TR WPTe FREs weE [, Sdias
3.¥

ability to bring people together

Question Number : 9 Question Id : 6981774140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Language 1s not purely learnt by accident or conditioning and much of it 1s

biological and species-specific, according to
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Noam Chomsky
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Siemund Freud
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John Dewey
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Lev Vygotsky
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Question Number : 10 Question Id : 6981774141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

For ability grouping of students a teacher should consider
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gender

Ty

individual differences
3,0%8,7 &80 A00

2.
roll numbers

3 % Swere® Rodd,mivh
physical characters
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Question Number : 11 Question Id : 6981774142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Shwetha has learned about the Mughal dynasty and then of Sultannate
dynasties. In the exam she could not answer a question on Mughal dynasty as
her learning of Sultannate dynasty was interfering. The type forgetting here is
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Options :

Proactive inhibition
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Repression
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Question Number : 12 Question Id : 6981774143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A student who knows to play plano has learnt to play keyboard quickly. The

transfer of learning here 1s

Options :

Negative
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Question Number : 13 Question Id : 6981774144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Disconnection of Stimulus Response association is

Options :

Extinction
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Generalisation

e, e, 3,
-Jz,"uw'_,'_‘n.-ntuun

2. % -

Discrimination
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Spontaneous recovery

Question Number : 14 Question Id : 6981774145 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identical twins Ram and Shyam differ a lot in their academic achievement.

This can be explained by this principle
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Options :

Development 1s predictable
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Development is spiral and not linear
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Development proceeds from general to specific responses
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Development is a joint product of both heredity and environment
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Question Number : 15 Question Id : 6981774146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The concept of "private speech’ was put forward by



Bandura

— -
A

L]

1.% ¥

Lev Vygotsky

2. of S

Chomsaky

2 -
DR o T
Cr-ue,-_"u.ﬁ.-,_\-_

4, =

Question Number : 16 Question Id : 6981774147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Thorndike’s this law of learning indicates the physical and mental

development of an individual to learn a subject

Options :

Law of Readiness
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Law of Effect



Law of Exercize
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Trial and Error
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Question Number : 17 Question Id : 6981774148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

ICT helps
ICT cing)cid,; Ao =EE.d

Options :

in equal learning among learners irrespective of their individual

differences
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in learning for disabled students only
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in self-paced learning
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in learning of high IQ students only
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Question Number : 18 Question Id : 6981774149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In this type of schools. scope for diversity 1s more
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special
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school meant for specific communities

gender specific schools

>, L =
R W - R
ON CdE N, T

Question Number : 19 Question Id : 6981774150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Teachers should consider teaching as a/an

Options:

1. %
one way communication
2.0 Oedodhd  Aom=R
2 %®
art acquired from birth, nothing to do with learning
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3. W
profession which requires continuous learning
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Question Number : 20 Question Id : 6981774151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Subject centred paradigm of organising learning can be more appropriate for

this level
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Pre-school



Elementary
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Secondary
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Senior secondary
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Question Number : 21 Question Id : 6981774152 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement
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Options :

one can have physical health without emotional health
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to be healthy, individuals should have physical, mental. social and

emotional health as they are interdependent
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emotional health depends only on physical health
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Question Number : 22 Question Id : 6981774153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement in promoting democracy at school
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Options:

in taking the decisions by the school authorities. voices of the children

must be heard
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1.4

in taking the decisions by the school authorities, the voices of the

academically meritorious children must be heard
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2. %
authorities of the school can take decisions on their own as they are well
educated
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head of the inatitution and teachers can take decisions az thev are

trained
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Question Number : 23 Question Id : 6981774154 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement with regard to the emotional development
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o, e s, - - i [ g i, ! — ".r,e,.,.; - o, B
CI.-Law._"Ue,-S-.bE L‘:’&;L:ﬁﬁ HGLC@HWCE 2@ 0 RrTFECIN, MoTasd

Options :

it depends upon the experiences of an individual
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2. %
1t takes place automatically as per their age as 1t 1s totally dependent on
genetic factor
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Question Number : 24 Question Id : 6981774155 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Good teacher is one who
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Options :

talks continugusly providing information
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2. %
malkes the students get good marks by conducting practice tests
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ensures the quality learning of the students
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Question Number : 25 Question Id : 6981774156 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



One of the following helps the teacher in understanding the learners

Options :
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1.4

neither intra nor inter individual differences are required
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Question Number : 26 Question Id : 6981774157 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following, identify that is acquired by birth
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Options :

attitude
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aptitude
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Interest
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Question Number : 27 Question Id : 6981774158 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Personality 1s dynamic
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in all children
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only in out of school children
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only 1n school going children
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only in merit children

Question Number : 28 Question Id : 6981774159 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A method that 1s useful to understand oneself based on one's own experiences
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Options :

Experimental
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Case Study
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Introspection
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Question Number : 29 Question Id : 6981774160 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Among the following, one of the following 13 NOT a purpose for conducting

evaluation of Class VII children

Options :

suggesting the students to drop out from school as they do not have

required abilities to continue further studies
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Question Number : 30 Question Id : 6981774161 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



In 5Q4R technique of learning and memory. 1dentify that is NOT the part
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Language I Kannada

Section Id : 698177131
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 22
Number of Questions to be attempted : 22
Section Marks : 30

Enable Mark as Answered Mark for Review and Yes



Clear Response:

Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 698177212
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 6981774162 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 35)

Question Label : Comprehension
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Question Number : 32 Question Id : 6981774164 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 6981774165 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 6981774166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 6981774167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Sub-Section Number : 2
Sub-Section Id : 698177213
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 6981774168 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (36 to 40)

Question Label : Comprehension
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Question Number : 37 Question Id : 6981774170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 6981774171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 6981774172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 6981774173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 698177214
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 41 Question Id : 6981774174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Options:
&308 Wososed
1. %
5 % NEE,ENE
—’-5—\ — — -
ot e 1 ui.fﬁ.l
3. %



Question Number : 42 Question Id : 6981774175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 6981774176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 6981774177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 6981774178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Options :



Question Number : 46 Question Id

: 6981774179 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id

: 6981774180 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Question Number : 48 Question Id : 6981774181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 6981774182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 6981774183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 6981774184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 6981774185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 6981774186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Question Number : 54 Question Id : 6981774187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 6981774188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 6981774189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 6981774190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 6981774191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 6981774192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 6981774193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Language II English
Section Id : 698177132
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177215
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Id : 6981774194 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (61 to 65)

Question Label : Comprehension



Read the following passage and answer the questions from 61-65. Choose the
correct option for each question.

One cannot forget the joyfulness of one’s childhood. Childhood is the stage of our
life in which the smallest of things gives immense pleasure. Clildren often do not feel
happy with costly things if 1t does not arouse any curiosity i them. If we remember our
childhood days. we can say. we were happy with things which we could collect on our
own, be it a piece of copper wire or a pebble or some caps of bottles. We were often
ready to play with our friends without knowing that we were learing a lot through those
plays, toys and games.

Now, that beautiful phase of our lives which we have walked past comes before
us when we observe our children as a teacher or a parent/guardian or a caregiver. As we
did 1 our childhood. our children also love to create boats and aeroplanes from paper.
They like to take rides on a tricycle. enjoy splashing water. try to catch soap bubbles,
love the company of pets, play with colourful toys. and get engaged with board games
and electronic games for hours.

Sub questions

Question Number : 61 Question Id : 6981774195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following one 1s NOT mentioned in the passage.
Options :

piece of copper wire
a pebble

2. %

a smart phone

4 % CAPS of bottles



Question Number : 62 Question Id : 6981774196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

*That beautiful phase of our lives which we have walked past comes before us...".

The beautiful phase refers to
Options :

1 & childhood

5 % adulthood

P acher life

parenthood
%

Question Number : 63 Question Id : 6981774197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Children often do not feel happy with costly things because

Options:

they are very costly.

they do not spark any curiosity.

they are bought by the parents .



they spark curiosity.

Question Number : 64 Question Id : 6981774198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The smallest of things gives immense pleasure. Pick the meaning of the word “immense’.
Options :

1 = lttle

uny
. u p L

tiny
3. %

huge

Question Number : 65 Question Id : 6981774199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the passage the following statement is correct.
Options :

Adults like to take rides on a tricycle.
1. %

We were eager to play with our friends, knowing that we were learning a lot from

5> % those games, toys. and plays.



Children are fond of making boats and aeroplanes out of paper.

“ Children often feel happy with the costly things.

Sub-Section Number : 2
Sub-Section Id : 698177216
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 66 Question Id : 6981774200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

We had many apples to carry.

Complete the sentence with correct option.
Options :

1.« oo

5 % 10

Question Number : 67 Question Id : 6981774201 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
We can reject the unscientific and unethical nature of customs and traditions.
Choose the opposite meamng of the word ‘reject.”

Options :

| % Oppose

5 % disown

3 % challenge

accept
4. &

Question Number : 68 Question Id : 6981774202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the part that contains an error in the sentence.

Most of the house in the village are verv well planned.
A B B D

Options :



Question Number : 69 Question Id : 6981774203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

We should to the next item on the list.

Choose the correct option to complete the sentence.
Options :

Move Ofl

mowve to

, move of

move by
4, %

Question Number : 70 Question Id : 6981774204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the option that best expresses the meaning of the idiom *Call 1t a day’.
Options:

Celebrate the day.



Get out of control.

3 ! Iy patience has run out.
E

Stop working on something.

Question Number : 71 Question Id : 6981774205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word.
Options:

acknowledjment

akenowledgment

acknowledgement

acknowledgmint

Question Number : 72 Question Id : 6981774206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The Marina Beach i1s beach in India.

Choose the correct option to complete the sentence.
Options :

1% a longest

5 % an longest

3 % longest

the longest
4. g

Question Number : 73 Question Id : 6981774207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

We should how to say ‘No’ without hurting others.

Fill 1n the blank with the appropriate word.
Options :

1 ® DOW

5> know

3 % 1o

knew
4, %



Question Number : 74 Question Id : 6981774208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Pick the correct sentence.
Options :

It 15 an beautiful flower.

My mother was a teacher.

Children need an lot of sleep.
3. %

I need a umbrella.

Question Number : 75 Question Id : 6981774209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The violin 15 being played by Radhika.

Select the active voice sentence.

Options :

Radhika playing the violin.
1. %

Radhika has been playing the violin.
2. %

Radhika 1s playing the violin.



Radhika was playing the violin.
4, %

Question Number : 76 Question Id : 6981774210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Shravan said, ‘I want this mobile phone.’

Choose the sentence 1n indirect speech.
Options :

Shravan said that he wanted that mobile phone.
1.9

Shravan said that I wanted that mobile phone.
2 %

. Shravan said that he has wanted that mobile phone.
3. %

Shravan said that he had wanted that mobile phone.

Question Number : 77 Question Id : 6981774211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This 1s the same lorry ran into the roadside shop yesterday.

Fill in the blank with the appropriate option.

Options:



what

2 that

this
e

4 % Who

Question Number : 78 Question Id : 6981774212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

My friend prefers coifee tea.

Fill in the blank with the appropriate option.
Options :

1 % from
than
W

1o

between

Question Number : 79 Question Id : 6981774213 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly punctuated sentence.
Options :

The weather this Winter, has been windy. wet. and unpredictable.

The weather, This winter has been windy, wet. and unpredictable.

3 % The weather this winter has been, windy, wet, and, Unpredictable.

v The weather this winter has been windy. wet and unpredictable.
4, %

Question Number : 80 Question Id : 6981774214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Whatever he says has so truth.
Pick the suitable word to fill in the blank.
Options :

more

1. %

5 much

manny

maost
4. ®



Question Number : 81 Question Id : 6981774215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The train was thirty minutes

Fill in the blank with correct option.

Options :

lately

5 % latter

3 ¢ late

latest

Question Number : 82 Question Id : 6981774216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The work must be finished Friday.

Pick the suitable option to fill in the blank.
Options:

bv
1.4 ~

from



bye

i

Question Number : 83 Question Id : 6981774217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This art craft 1s by the students.

Pick the suitable option to fill in the blank.
Options :

made
1. ¢

malke
2 %

makes
3 %

making

Question Number : 84 Question Id : 6981774218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



“Is 1t okay 1f I use your computer for a minute?”

This sentence mndicates

Options :

oranting pPernuission.

ordering.

asking for permission.

refusing permission.

Question Number : 85 Question Id : 6981774219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
‘My English World’ 1s the title of

Options :

. English handbook for teachers.

., Programme designed for the children.

English text books of primary level.

. English online course for the teachers.



Question Number : 86 Question Id : 6981774220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

‘LAD’ stands for

Options :

Language Acquisition Device,

Learning Acquisition Device.
2. %

Language Auto correction Device.
3. %

Last Accuracy Device.
4. ®

Question Number : 87 Question Id : 6981774221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify a discourse and assign a task to construct 1t. This task 1s part of

Options :
Silent Reading.

1. %

Pre-Reading.
2. %

Post-Reading.
3.¢



Extensive Reading.
4, % -

Question Number : 88 Question Id : 6981774222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following is a feature of ‘Student Centred Learning.’
Options :

Teacher is not a co-learner along with students.
1. %

Student learns in 1solation. not in groups.

Student’s participation in all the learning activities will be encouraged.

Assessment is done only by teachers.
4. %

Question Number : 89 Question Id : 6981774223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The following is known as ‘Magnacarta’ of Indian education during British rule.

Options :

“ Hunter Commission

Wood’s Despatch
2. ¢



Sadler Comumission

Raleigh Commission

Question Number : 90 Question Id : 6981774224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following 1s NOT a tool of formative assessment in English at Primary School level
in Telangana State Board.

Options :

Observation

Project work

2.

Slip test
3.

Experiments
4, &

Mathematics

Section Id : 698177133
Section Number : 4

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177217
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 91 Question Id : 6981774225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Ramana started watching cricket match at 9.30am in the morning. He watched
TV for 220 minutes. He stopped watching TV at

3 g 8 g o T T
Cmlone WY ||r|l 9 30: E,E: Eale T ER M - VL \.-b.ﬂ-.-liw-vw L Ftoe 220 nNERTmNT ToL Eld)

&

0 o - i, v, g, o a-.:' 0 —
'Nl'ﬂ-ll 3%"\“- [ ] "\--.m -.'E--.--.-‘wﬂ.r-.- L L T Y L Y

£% 5

B nu

Options:

1.50pm

1. #

, 12.10pm

3 ¥ 1.10pm

4 % 12.50pm



Question Number : 92 Question Id : 6981774226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of three digit numbers having the same digit in the units and

hundreds place 1s:

Options :

9

5 % 180

60

Question Number : 93 Question Id : 6981774227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Difference of the greatest and smallest five digit numbers formed by

[ligita 3:0:5,2: 83

g o o — ot o m wd n D e cna D e a pd eiel e m—
3’ 01 5. 2’ 8 BoENY ol u..-?.-.-‘,-rnﬁtua -.-.-J:‘_..,e-.? oSy, T B0 Boelis R0 NS TSl A

Options :

1.



4w 64038

Question Number : 94 Question Id : 6981774228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Ravi's age 1s 9 years. His father’s age 1s thrice his age. The ratio of Ravi's age to
his father’s age after 3 years is

- T e, - —— el 'y o, o — o D o - e T e’ i
b G b -\'m-lm-‘hun\- T \ﬂ"vu:\- Vo b e et (Bt bt \5*!-'&.- %m.w«-_b-:u TR0 BB .

T e, - I R —— | e . T g -y el
& 3 H & : . ot bl bt hmﬂqﬁd ’ﬂf\-u"w&'& lm'.huf_'?

Options :

3:1
1. %

1:3
2. %

1:2
3. %

| T



Question Number : 95 Question Id : 6981774229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Satish wants to plant trees to cover his square field completely, then the
number of plants required are

= - e e et md e R P s S -
-E'dt:r -5-3\.\.-.;, 4= hoh- 1 PS8 T H'-'u Mﬂru -u:...,,_,'-“\._,rw IF'I w.-b-\.-"-\lw.r'-.' A i ‘—"'\.--.f -u.,a\.w LM bt S -'u

J_l

5
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ST et bt ’ﬂl (=5 b aad A r‘—' -\n.-:-.-" wwu ol

EJ

Options :

360

289

198

464

Question Number : 96 Question Id : 6981774230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Leap year among the following is



2012

2002

Question Number : 97 Question Id : 6981774231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The next number in the series 4, 8, 24, 96, ______1s

4 8 24, 96, ...... Acdchd 8 oo Ao,

Options :

192

4380



Question Number : 98 Question Id : 6981774232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The difference between place value of 3 in numbers 43.26 and 4.03 1s

43.26 w82, 4.03 Rodngd,, 3 € W % SRu,;E SEOE ®E0A

Options :

@ 297

L]
(]
Ced

297

Question Number : 99 Question Id : 6981774233 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The HCF of 8, 56 and 60 1s

Bl
|

— - - L e — —— - - - —
8’ 5 Tk 1St GD oW ST A Tddeind] 03D eomo,

Options :

8

1. #



Question Number : 100 Question Id : 6981774234 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following numbers will not divide 312792 exactly?

Hs

= 39AR i@ Ros;ne 312792 w8, ALTTN WhEmhw,?

Options:

A

Question Number : 101 Question Id : 6981774235 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Anil's school is 670 meters from his house. One day he left home and walked
215 meters. Then he realized that he had forgotten his science notebook. He
went back to home, collected the notebook and went back to school. The distance

travelled (in meters) by Anil on that day for going to school altogether is

o T o — o v T T gl Y 2 P T o A T o T B - P, YR L s
\5,'\1‘\-!' o \51«.!\.;' E‘M.-':\.-U-\.-:w mf:n.-u W\..?wa.f'mwl (A ey aw &Mf\tu me:-Cw CDHQULH

% 885
5, % 430
L g 1315

1100

Question Number : 102 Question Id : 6981774236 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



It 15 a four-digit number. The digit in thousands place 13 largest single digit.
The digit in the ones place 1s smallest natural number. Sum of even prime and
smallest odd prime 1s in the hundreds place and even prime number 1s m tens

place. The number 1s

- 0320
8530
2.33
09521
3.¢
4 % 0251

Question Number : 103 Question Id : 6981774237 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
10000kg expressed in quintal as:

3 otef=sd_ 10000 22 = 3. 2a3mns:

Options:

| » 100



Question Number : 104 Question Id : 6981774238 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

100 hiters of milk 1s packed into 250 ml packets. The number of packets made
18:

] c Ty - D
A D — T g — o — = — -
T SRl 250 Bt B T T Wy T ormeoaTeE,

Y

0

-
L

o

2l
b

Options :

400

40

]
A

:Yes

Question Number : 105 Question Id : 6981774239 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The number of factors of 18 are:

18 T &=03 :JC:.: v i

Options :

Question Number : 106 Question Id : 6981774240 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

; " S ; ;
The product of two fractions iz 6. If one of them 1s DE‘ the other fraction 1=

G 2 :
TR PR ToBNT Mot ) 6. emnvd,, woetds 5— AR S, e ot PR 003
. - a®,
Options :
9
10
5
18



Question Number : 107 Question Id

: 6981774241 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An angle more than 0° and less than 90° 15 called as

o R - e s I e o o - S gl o mgd - o g gl g )
D ° fice =i vl O0 © 2.08 ERTw "I0L: TSR mno. Sofh T

Options:

Obtuse angle

LT Bars

1. %
Acute angle
e £ o
o 1 =¥ Fg W
2. e
Right angle
ak3, Bmes
3. %
Reflex angle
aZams 2nes
4. %

Question Number : 108 Question Id

: 6981774242 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Question Number : 109 Question Id : 6981774243 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
5% of 60 is

60C 5% w=s,.

Options:



r_r_,

Question Number : 110 Question Id : 6981774244 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The angles of a triangle are in the ratio 3:4:3. The largest angle of this
triangle 1s

g =
-

a ot o 3
S 2

PR - PP S ot P p——— . T (G e ] — 3 I —
JElmGd TR TRNTY 345 e vt et ol e = SSRING KRG, ELCR e,

Options:

60°

90°

Question Number : 111 Question Id : 6981774245 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A speed 20 m/sec 1s expressed in km /hr as:

T ?':.-A_: _J_.-'—l—-. B P - ol o — -
20 Bkt P nECTE SENGeng, gaoffng OSogi Ec-fll. WIT mEATETWE,

Options:

Question Number : 112 Question Id : 6981774246 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The value of p, if 0.5p = 0.065 13

GSp = 0.065 Ehzzﬂ, pw ﬁéa{-

Options :



4.% 1.3

Question Number : 113 Question Id : 6981774247 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The total surface area of a cube 1s 54 sq.cm. Then, the measure of 1ts each edge
(in em) 1s:
LOT PR ki, Boed, DA e0oF 54 3 3 foe, TTS | BU0 B8 wous wed

—

- ) - -d-' "
(-u_._ -:u-.-',ﬂ} W&, ;

Options:

2.2
1. %
2.4 7

4
3_%-5

2.4
4. %

Question Number : 114 Question Id : 6981774248 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The arithmetic mean of first five composite numbers 1s:

T . RS [ - R e L - e [, - _-.._,."'\_-_- s g, el £
aJBCald BJtag uuu.iu?-;h&'- -u-.-:-.i'al'l‘:'ll ’ﬂuEHE PA=-TiR e  TY -\Jb_



Options :

12

7.4
2.9

6.5
3. %
. % 62

Question Number : 115 Question Id : 6981774249 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“A student applied the knowledge of ratio and proportion in understanding the
concepts of time & work and time & distance”, then the academic standard

attained by the student 1s:

. ; y -
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Options :

Problem solving
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Reasoning and proof
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Communication

3 % el =iy
Connections
et e )
Hh-u.-luFl T

4.9

Question Number : 116 Question Id : 6981774250 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following steps of the project method in a sequential order.

= - — - -, = s g T, — — - — P R o
EFNN DOENFRY, CIRWRNLN APIRE BTE 5h o

A)  Planning the project

— P ey -
w..?fi«-"\.-vﬁ'u-.- m?fhﬂ-uw:zv

B)  Creating situation

—T D . i e
H.l'\l.ll'\l \-I'U"-ﬁ.lﬂ.luz_ UUGFUU%WU

C) Rep@rting tilE project
clrcnoha, BUB BRBITRTR

D) Explaining the objectives
LT eBNTRL, DTOIF T

E) Executing the project

__,.....l 2 5 e e
M&EG\-NMNH Hw.-l

Chﬂl}u the correct answer:

s, e s _-_.._.-’, e, 5
—dﬁuuu_,w C* R I= Uw'\.h.in_ =000, Eu.lzlﬁ_

Options :
A DB CE.

1. &

2. ¢



B.D.AEC

B,AECD

AE D BC

Question Number : 117 Question Id : 6981774251 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following concepts to be taught with most suitable teaching learning

material:
89,08 308,70 Brgm 395 w3undeoan sd3uen 29AR Zbse, Srivs, Brchi:;
Concepts TLM
BoFo 3 Wargsy 305 WA,
A)  Percentages 1. Solid geometrical shapes
Se3momaTh TR 3 f0Se0h SR0N
B)  Types of triangles 11, Grld paper
SEnEny HEne AE Semct
C)  Number of edges of basic ni.  Abacus
shapes Clvpl P
TLRL ERONT YoEine 30d;
D)  Decimal numbers . Geoboard
— e, 1 el 08 mE m o ,-.J-\H_,-F
ol et bt . "\u-'-:l-l TR Cn.-w\-a, e el

(Chooze the correct answer:

x o e, l-p.\-l —— - -;_.'-'., ——
ﬁlav.h-bw S, Uw‘\.lvn- E:'M: [P

Options :



A-mi, B-i, C-1v, D-11

1.%

A-iii, B-i, C-iv, D-ii
2.

A-iii, B-iv, C-ii, D-i
3. ®

A-iv, B-iii, C-i, D-ii
4, %

Question Number : 118 Question Id : 6981774252 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the advantages of the unit plan among the following:

Lhnndd | g cdrcnach e@Bsonds, notidd
Al The unit can be completed within the allotted time

e
i*:’-:u».- xﬁ-uw.- T =\JH}WCDUWH

provided.

A-'—L ...-._- N _-..__:-_L " SN
-uﬁ = N I 82000, oe@

Options :



C &t D Glll:v

r D=

AB &.‘ C Ol‘ll:v
A B& C=ng

A, B& Donly
A B& D=mg

4% ABC&D

Question Number : 119 Question Id : 6981774253 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the following statements related to evaluation in mathematies.

il

o o LE =
v, el ' et )y e, st i Y D
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Statement-I : Assessment for learning and assessment of learning are
involved in continuous comprehensive evaluation.
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Statement-II: Continuous comprehensive evaluation involves formative

Assesament and summative assessment.
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Choose the correct answer:
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Options :

Statement-I 1s false and Statement-1I 1s true.

2eed | F00WO,, wEy, Bewd-|| 0ok,
1. %
Statement-I 1s true and Statement-II 1z falze.
=c23.] F00%T vet=N 2ces.|| I0oke .
2. ®
Both the statements are false.
3 % WTBR BegEnTs 00LY..
Both the statements are true.
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Question Number : 120 Question Id : 6981774254 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If a topic 1s divided into several parts and spread in different classes as per the

difficulty level of the content, then the approach adopted in mathematics

curriculum is:

Options :

Topical approach
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1. %



Concentric approach

Beeld; s,
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Inter disciplinary approach
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Environmental Studies

3. %
Teacher centred approach
58T SrolyE AR

4. %

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 121 Question Id : 6981774255 Question Type : MCQ Option Shuffling : Yes

698177134
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Online
Mandatory
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Yes

0

1
698177218
Yes

null



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The nutrients which are required by the human body m very small quantity

among the following are

= e By ot 2 e e i e e e T T
=31 u"?’hf\l%l’ 1T Cad M lad P wfl:n:léj ’ﬁ&awﬂ- T T Tl L. & Sl 2 B uauﬁﬂr“l‘r'u
o, el

Options :

Carbohydrates
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Question Number : 122 Question Id : 6981774256 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A flower that has both androecium and gynoecium 1s called as



Options :

Incomplete flower

=3 S e}
SR RIYF oty

1. %
Unisexual flower
5 % DECoh BaTY
Bisexual flower
8 Soh =aT
3. %
Staminate flower
T, SnRets =em)
4. %

Question Number : 123 Question Id : 6981774257 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Jams and fruit juices are preserved with
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Options :

Sugar
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Honey

oy -
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Question Number : 124 Question Id : 6981774258 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

As we go upwards in Troposphere layer of Earth’s atmosphere, the temperature

will
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Options :

Increases
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Decreases
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FRTLOITANE, T

Remains same
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Constant
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Question Number : 125 Question Id : 6981774259 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The first hour after the accident 1z known as

-
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Options :

Critical hour
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Silver hour
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Saving hour
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Golden hour

Question Number : 126 Question Id : 6981774260 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The future energy resource among the following
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Options :

Water
~ET
1.9
(Coal
Ty T g
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2. ®
Petroleum
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Natural gas
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Question Number : 127 Question Id : 6981774261 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The largest organ in human body among the following

iH:
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Options:

Bone

£
)
LA



Liver

&
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Bl

Small intestine
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Skin
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Question Number : 128 Question Id : 6981774262 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

World Water Day is held annually on

Options :

22nd January

wowmb 22

1. %
11th April
2. x Do 1

22nd March

223 TreEE

3.¢



11th June
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Question Number : 129 Question Id : 6981774263 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Earthworms breathe through their

Options:
Skin
Gt
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Galls
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Sotdzst
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Stomata
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Question Number : 130 Question Id : 6981774264 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The plants with fibrous root system have leaves with
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Options :

Parallel venation
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Horizontal venation
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Reticulate venation
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Branched venation

Question Number : 131 Question Id : 6981774265 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following disease is caused due to particles of mercury
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Minamata
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Pellagra

Question Number : 132 Question Id : 6981774266 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the gas caused Bhopal tragedy among the following
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Options:

Ammonia
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Hydrogen sulphide
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Methyl Isocyanide
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Sulphur dioxide
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Question Number : 133 Question Id : 6981774267 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From among the following, the states that come under the Western Zone of

India are

Options :
Gujarat, Rajasthan, Goa and Maharashtra
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Gujarat, Punjab, Himachal Pradesh and Maharashtra
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Maharashtra. Goa. Jammu & Kashmir and Rajasthan
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Maharashtra, Jammu & Kashmir, Rajasthan and Gujarat
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Question Number : 134 Question Id : 6981774268 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the true statement regarding the Longitudes
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Options :

There are 90 longitudes on either side of the 0 longitude
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The 90 East longitude passes through Greenwich
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180 East/West longitude i1s also known as International Date Line
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The time difference between two consecutive longitudes 1s 5 minutes
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Question Number : 135 Question Id : 6981774269 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



From among the following. the two main rivers originated in the Western

Ghats of India are

T SYRSHPNLY,, oI L8R = 28Nt yRTEE B3,
Options :

Narmada and Tapti
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1. %
Mahanadi and Godavar
EoRh &hEy, Aemomd
2. %
Erishna and Narmada
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Kricshna and Godavar:
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Question Number : 136 Question Id : 6981774270 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These minerals are required approximately in the ratio of 4:2:1 to make steel
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Iron-ore, Cooking Coal and Lime Stone
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Cooking Coal. Iron-ore and Manganese
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3. %
Aluminum, Iron-ore and Lime stone
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Question Number : 137 Question Id : 6981774271 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During the period of Mahajanapadas. ‘Bhaga’ refers to

Options :

61:}1

The share of the farmer that was equal to 5 of the crop

o GPoRY 5/6 wRnmEs,, 5,83 Ze

1.

The share of the king that was equal to 1 /6% of the crop as tax
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The amount of tax to be paid to the king by the Grihapathis for

cultivating the land
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3. %
The amount of tax collected and repaid to the king by the Gond Patlas
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Question Number : 138 Question Id : 6981774272 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This Mughal Emperor granted Robert Clive the right to rule Bengal
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Options :
Bahadurshah II
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Akbar I1
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Question Number : 139 Question Id : 6981774273 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From among the following. this turned out to be the first all India struggle

against the British Government although it was largely restricted to cities
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Options :

Swadeshi Movement

1% 2 ;05ed wWome
Vandemataram Movement
Tl e b, e g e )
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2 %®
The Rowlatt Satyagraha
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3. %
The Non Cooperation Movement
HIET0 BYmT

4. %

Question Number : 140 Question Id : 6981774274 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By the time the British East India Company entered India. the Portuguese had

already established their base in this region of west coast of India
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Calicut
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Mangalore
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Question Number : 141 Question Id : 6981774275 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, the true statement regarding the State legislative Counecil

of Telangana is



Options :

It consists of 60 members
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1. %
The Governor nominates 1 /12 members to the State Legislative
Council
TowmoeTo 1/123¢: 3ER,;0R, Tots; LR E0EA.A AR SR
2. %
The State Legislative Assembly elects 1/3™ members to the State
legislative couneil
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Question Number : 142 Question Id : 6981774276 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following, the two actz passed by the Government of India for
the protection of Children are
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The POCSO Act. 2012 and the Juvenile Justice Act, 2015

Sprde_r 8fLcheh- 2012 =3, HEHETIE 5900 ¥hlchEs- 2015
The POCSO Act, 2012 and the RTI Act, 2005
i Em 5~ poachan- 2012 =8, 2T :onn- 2005
2. %
The RTI Act, 2005 and the Juvenile Justice Act, 2015
TR LBA0E:S - 2005 =oEs, et shachum-— 2015
3. %
The RTI Act,2005 and the Nirbaya Act, 2013
SO0 BHICLT- 2005 =, JPred BBIcLT- 2013
4. %

Question Number : 143 Question Id : 6981774277 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of the given temperatures in the ascending order

EORED RN, NcBTiE SETRINY A00IRT SR manT, ThTudd
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Options :
0°C, —1°C, 1°C, —4°C, 12°C, —16C, 29°C

1. &

AGC—4E=1C 0C 1C, 12€:29C
2.



=10 — AL =16 C.0C 1€ 12C, 29C

29°C,12°C, 1°C, 0°C, —1°C, —4'C, —16 C

Question Number : 144 Question Id : 6981774278 Question Type

: MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, "Anthyodaya Cards’ are issued to these people

Options :

The poorest of the poor families
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Agricultural Laborers
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Below Poverty Line people
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Senior Citizens living in the rural areas
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Question Number : 145 Question Id : 6981774279 Question Type

: MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In Telangana EVS text books, the captions like “Look at the picture — think and

say”, “Think and say”, Discussion in groups” represents mainly this academic

standard
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Options :

Conceptual understanding

o 2ok Sshmes
1. %
Questioning and Formulating Hypothesis
BO_R0m Tod, B)5_R0W MTLFFENo, BB, A8
2. ¥
Experiments, field observations
g,cdaening shdh, 863 Degmnsh
3 %

Information skills, projects

Question Number : 146 Question Id : 6981774280 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A year plan for a particular class should be prepared for the remaining

working days by deducting the following
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Options :
School Working days in the academic year
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World environment day
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National acience day

Working days required for Inservice training
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Question Number : 147 Question Id : 6981774281 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following activity best suits for teaching “different types of

houses, Post office, Banks”?
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Real Objefts Activity
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Fieldtrip Activity
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Picture card Activity
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Question Number : 148 Question Id : 6981774282 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“Imagination of the outcomes based on known information” is the learning

indicator of this academic standard.

Options :

Experiments and field observations
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Formulation of hypothesis

Conceptual understanding

25,05008 3chmed

3. %
Information skills and project works
Tdd FBu N whE, clrendodh 3uands
4. %

Question Number : 149 Question Id : 6981774283 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are true related to elements of teaching

learning approach?
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A)  The approach should help children learn how to learn
& DpeRE) w820 S sdohidefons Fdohu ATHOL BREE, T
B)  The approach should engage children m learning activity
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C) Product skills must be integral part of environmental studies teaching

learning process

D)  The approach should be in accordance with children’s individual

Differences
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Options :
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Question Number : 150 Question Id : 6981774284 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This committee in the report stated that school curriculum should be totally re-
organised for sharpening of natural creative abilities of students and to make

teaching meaningful.
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Ishwarbhai patel committee

Kasturi Rangan committee
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